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Write the words under the correct pictures.
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duck ( penguin ( ferret
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Read the text about an interesting bird.

Saving the Kakapo

Which bird stands like a penguin, walks like a duck and is heavier than a chicken? It’s the kakapo parrot, and it’s rarer and more unusual than any other parrot in the world.

The kakapo is bigger than other members of the parrot family. It’s also different in another significant way; it cannot fly. The kakapo is a vulnerable animal because it isn’t as fast as other birds, so hungry cats, rats or ferrets can easily catch it. It’s also very friendly and it can’t distinguish a friend from an enemy.

The kakapo’s main form of protection is camouflage. When there’s danger, the bird hides in a tree. Up in a tree, the green bird is almost invisible, but wild animals still find it because it’s got a strong smell. For all of these reasons, there are only about 120 kakapo parrots in the world today, and they all live on three protected islands in New Zealand.

Scientists are working hard to save the kakapo from extinction. Each bird has got a small microchip so someone can watch it at all times. Volunteers stay on the islands to take care of the birds. They give them food and they make sure they are safe and healthy.

For now, the kakapos are safe, but they are still in danger of extinction. One cat or rat can destroy the entire species.
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1.
A chicken is as heavy as / not as heavy as a kakapo parrot.


2.
Other parrots are smaller than / not as small as the kakapo.


3.
The kakapo is not as fast as / as fast as a ferret.


4.
The kakapo is as friendly as / friendlier than most wild animals.


5.
The kakapo is more vulnerable than / not as vulnerable as other parrots.

4
Answer the questions.


1.
Why is the kakapo an unusual parrot?


2.
How do we know the kakapo is rarer than other parrots?


3.
Why is it hard to see a kakapo in a tree?


4.
How do wild animals find the kakapo when it’s hiding in a tree?


5.
Why are today’s kakapos safer than kakapos in the past?
5
Look at the fact file about the buff-faced pygmy parrot. Write a paragraph about it 
and compare the buff-faced pygmy to the kakapo.

	Name:
	buff-faced pygmy parrot

	Lives in:
	West Papua, Indonesia, Papua New Guinea

	Average size:
	8.4 centimetres

	Average weight:
	10-15 grammes

	Vulnerability:
	not vulnerable

	Danger of extinction:
	not in danger

	Other information:
	flies very fast
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